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of chocolate in No. 1 is 3 times minus 4 of No. 2. At each time, take 5 pieces of
chocolate from No. 1 and remove 2 pieces from No. 2. Finally, the chocolate in two
boxes has been taken out at the same time. How many pieces of chocolate are in the two

boxes? (A)30 (B)32 (C)26 (D)28
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8. There are 6 points in the horizontal plane. A line segment can be drawn between any two
points. How many line segments can be drawn in the horizontal plane? @
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3. The total weight of milk powder in the tin can was 750 g. The weight of the empty tin can
was 100 g. When half of the milk powder was scooped into another empty metal can, the total

weight of the milk powder in the metal can become 600 g. Please find the weight of the empty
metal can. (12 4)
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